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Review Packet (Chapters 5-10) Name:
Chapter 5
. Verify each identity.
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Solve each equation over the interval [0, 2r).
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Write the expression as the sine, cosine or tangent of an angle.
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Use the Law of Sines or the Law of Cosines to solve the triangle. If two solutions exist, find both.
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Find the component form, magnitude, and direction of the vector v:
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_the unit vector for each:
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Chapter 7 @
Solve the systems by substitution. L NS /Cﬂ/ a
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Write the form of the partial fraction decomposition of the rational expression. Do-netselveforthe A
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Sketch and label the solution to the system of inequalities.
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8) Find the maximum and minimum values of the objective function z = 4x + y subject to the indicated
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Given the following matrices, find the indicated information.
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e the augmented matrix that corresponds to each system. Then solve it by writing the matrix in

-educed-row echelon form.”5 2
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Write the first 5 terms of each sequence using the given information. Determine if the sequences are
arithmetic or geometric.
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Write the explicit formula for the nth term for each sequence. Then, find the indicated term.
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Use the Binomial Theorem to expand the expression.
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15) What is the coefficient of x*y® in th‘i expansion of (2x — 3y)10?
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17) A die is tossed two times. What is the probability that you will roll and even number both times?
24,02 2= Y A | \

- ——

’2'2'1_,

18) You have a bag of 10 blue, 4, green, and 8 red jolly ranchers. If you pick 2 jolly ranchers from the bag at
random, without replacement, what is the probability that they will both be blue?
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¢he number of distinguishable arrangements of the letters in the word.
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Chapter 10 ‘
Find the indicated information. o
1) Find the inclination 8 of the line 2) Find the angle between lines
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4) Use the equation of the parabola to find the indicated information: y? — 6y + 9% 16x + 32 =0
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5) Find the center, vertices, foci, and eccentricity of the ellipse. Then sketch it.
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